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1 Introduction

ZORXTIISERTLS T 7 Ks ODHERY 777  (cat’s cradle graph)
Cat(K;s) 7* intrinsically knotted graph THENENERMRD, BERHH
REZITOLIA, UbLLHFARVRRTH S,

ITF7 GBNINIITTTIDEE, 1 DDNAIN YA IV C RIZIER
KEACER RSB, CD2o0at—C, ¢ £RY. TR & (i+1)
ERELS, HRETF77% G OBBRY 777 L0\, Cat(G) LEBL,
ZWMY 77 ORER G »hofTEEhD 2" AOZEMS T 7 (n IXZROEEK)
2, TORER»LB/BONZZEZMI T 7LV, TOLTOZEMT T 7 Mk
BARKUCBELELLE, TOHEE G % knot inevitable projection & \»
ST s, £, G1LBOLNILTOZEMT T 7 G NEERRES
HZ28atrL %, G % double link invitable projection &3,

10X 5 2HER%Z Cai(K;) O standard projection &5 Z k2§ 3,

1

Proposition 1 5THR5ELY 57 Ks DHRY 757 Cat(Ks) O standarad
projection 13X knot inevitable projection T 3,

Proposition 2 S5THAERS 7 7DERY 77 7 Cat(Ks) DEBRDLEM S
57 Cai(5) iEABRRETE 2 ST E 2 D linked graph 2 St



(2]

Z :_—C\ "02(01,03) = 1 lkz(éz,é4) =1 ):ﬂ“éo

& 2

2 Proofs of Propsositions

Lemma 1 K; ® #8Y 757 Cat(Ks) L2 2DRRD5EELST7 Kg O
MO EELDT Cat(Ks) 1L intrinsically double linked graph TH %,

Remark 1 Cat(K;) KB Eh5 2o0R%5 K, Ofisrk K, K &
Lk, KD 2ux KD, KP =2ox kP 25, ZOLE, ZhbD
KD, kP 2 KV nK? =0 20T Cat(Ks) iw&END double link 3K
i (—ELT) 1D link ThHEWD Z LR,

Example 1 22875 7 K4 & intrinsically double linked graph T
H BN, intrinsically knotted graph TIX/2VY, FHIZTDE®D projection i
double link inevitable projection T3 DM, knot inevitable projection Tk
/AN

3

Proof of Proposition 1. #if#1 X Y. Cat(Ks) i intrinsically double linked
graph T3 2 H*bH standard regular projection % double link inevitable pro-
jection Tdh B, #-o7T, Cat(Ks) D standard projection X knot inevitable
projecstion THHHEREITLLY,

AN 5% Ks ORERNLHEOND diagram THED K 5 7 diagram
% linked wedge LV, BRL TV ATEAR% linked wedge DTRR &V,

4

Lemma 2 H50 Ks OHER»LEILNBERD diagram 3P ED
1 2D linked wedge DS % FFD,

.5

WH, E; = {02, 03} t—BLEODE LTRY, &I B, = {13, 14} B By
DFICHBLLTRW, RIZil 24 % E,, E; OTICE< &, linked wedge
024U13 HHiEB, £, 38 24 ® By, B, D LEIZIB< & linked wedge 031U24
RHED, UELvAHRL ED 1O linked wedge 2L, ]



= 6

Remark 2 K; @ LD & 5 2RI GHEOND diagram 1318, 3HEX
X 5D linked wedge % &2, diagram 3 1 HOHETr& EiX. £D diagram
EHARKB TR EEER2V, 5@D linked wedge X E5Lr & E1X 5,-knot %
B, 3{ED linked wedge e L FiX, TOTRAN 3 WGERRD & T 1L,
D diagram Z=ZOFBTEEEH, £ CRVEIFARARBTCRZEE
7y, (E7)

7.

Remark 2 £ ¥ Cat(Ks) @ standard projection 25 ¥A 45 diagram
2T B, B o#snic 5 @0 linked wedges X R 3 THAUC
linked wedge 3355 &, %= CHEABRRUCAZ AT, 22T KD, K2
D53 linked wedge 23E 1 EET-30h, FEEifE 3 TR T linked wedge 45
SENTVAEEEZ ZLNIEIRY,

Cat(Ks) = KM UEUKD Li<, 2L, V(KY) ={0,1,2,3,4,}
V(E®) = {01,1',2',3,4'}, E = {ii', i(i + 1) mod 5} £T 3,
K 28 ENRD 120 linked wedge 11 024U13 & LT—iiEx Kb,
K® &ENSD 1 50 linked wedge i1
#E+2)G+4)U(i+1)(+3) mod5 (i =0,1,2,3,4) Xit
@i +3)(i+1) U +2)(i +4) mod 5 (i = 0,1,2,3,4) &2} 3,
linked wedge AR 8D X 57L&, 0,3 ZLHK, 1, 4 Z THRELELSHZ
T35,

8

(1) Ks® o linked wedge i'( + 3)/(i + 4)' U (5 + 1)'(i + 3)" 12350 T

(a) # (5 + 3) MEHA. (i +1), (i +4) HKFER

(b) &', (i +3) HFEA, (i+1), (i+4) BEEK
D2ODFENRH D,
BTFTi'=0,1,2,3,40k%, ED(a),(b) DOVThOBETYH Cat(Ks)
® standard projection 5 HA N HIEBDEM 2 F 71X knotted cycle 235
LI EETT,

=0T (a) DL Z,

(3]
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=0T (b) DLE,

#=1T(b) DEE,

'=2T(@neE,
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11

12

13



(5

#=27T(b)DLE,

14
=3 TC(a) DL E,

15
'=3T ()DL,

16
=4T(a) DEX,

= 17



(6]

#=4T () DEE,

B 18

(1) K$? o linked wedge i'(i + 3)'(i +1)' U (i +2)'(G + 4)' iz T
(e) #, (i+2) BLEEA, ((+1), (+4) ¥TEK
(d) &', (+2) XFEA, G+1), (+4) BEERETS,

=0T (c) DL E,

bl

19

#=0T(d) DLE,



(7]

#=17T(c) DL,

= 21
=1 DLE,

& 22
i’=2’(‘(c) 0)&%\

B 23

24



(8]

i’=3‘($(0) 0)&3\

P47 () OLE,

i'=4T(d) OLE,

25

27



U EX Y Cat(Ks) O standard projection 7> LN IEBRNZM ST 71t
knotted cycle Z S LrIFMRE T,

Lemma 8 (Taniyama-Yasuhars [ |, Foisy [ ]) TRDS 7 Dy %M
57 Dy i8N T
lka(Ch, Cs) #0
lka(Cs, Cy) #0
© o(Ds) = T er a(7) mod 2 # 0

ZTT ik Dy KEEND dcyde DEA. ofF) HETH 7 ® Conway £
Iﬁﬂo 2 DFE mod?2 (=5 DT VIRER) '

Proof of Proposition 2 29 DX 572 Cat(Ks) DB 7 7,84
J, 2 £BL, Hh T Ke OME, J i K¢ OFHKILERICR->TW
D, Sy TiX (3, 4)-F A TDRDLBRNFA I NDRE (3, 5)-F 4 7DD
LRVYA INOHBEERTVD,

29

(1) S CEENDZRDLR (3, 4)-F 4 7 DY A 7 NDxHL Aut(Cat(Ks))
YERTHL
Ci=(0,24) Cs=(1,3,3,1)LLTRN,
(II) RRRIZ J, KEEhBRDLR (3, 5)-F 4 7OV A 7 LORHE
Ci=(0,1,3) Cs=(2 4,4, 1,2) LLTRN,
L CEENDIRDLRVWYA I VORIRDO L 0B TH B,
FiFE C;, &L, ®IN%E Cy LT 5.)

(1) (3,4,4,3,2) (0',1,2) (2)(2',4,4,3,2) (0,1,3)
(3) (2',3,2) - (0,1,4') (4) (1,4,4,3,2,1)  (0,2,3")
(5) (1,3,2,1) (0',2',4') (6) (1,2',2,1) (0',3',4')

(7) (0',4',4,0) (r,2',3) (8)(0,3,2,3,4,0) (1,2',4)
9) (0',2',2,3,4,0) (1',3,4") (10)(0',1',1,2,3,4,0) (2',3",4")

(9]



(10)

(1), (I1) PHE L DB/AI Ji, 2 KEELD 2HOTDLRVYA I VE
A, Cat(Ks) D BHLEMT T 7 Cat(K)s CBNT
1ky(C1,Cs) = 1, 1ky(Co, Cy) = 1 BT TEE,
#E 3 O linked D, IZAETE ZHEFRIETRLY,

M
(1) Cl n Cz = {2, 4} Cz n 03 = {3, 3'} Cs n 04 = {1'} Cl & 04
1% 00 TS

C:=aUB a=(3,3,4,4), B=(23,3)%,T5
C’§=a@é:%\ ClﬂC£={4}, CzﬂCg=33’
=B DLE, C;NCy={2}, CaNCs=33

30
@2cinC;={2,4 CoNCs={3} CsnCy=1% C & Cyii8
00’ TS,
C;=aUB a=(23,4), B=(244,2)LT5,
l=aDLE, C,1NCy =24, C;nCs={3}
=B DLE, C1NCL=24, Cp & Csidill 3¢ THS

3

(3) CinC; = {2} ConNCs = {3'} CsNCy = {1'} C, & Gy 130
44' TS, '

10



] 32

@CinC;={2,4 C;nCs={3}ull CsnC,={3} C &
C4 1338 00 THES,

C:=aUB a=(2,3,4), B=(1,2,44,1)LT5,

r=aDLE, C1NCL=24, C;NCs={3}

=B DEE, C1NC;=24, C;NCs=11

33

(5) CiNCy={2} C2NCs=11'8" C; & C, 1138 CHEE, C
L C, M0 00" THE,

£l 34

(6) CinC,; = {2} ConNCsg =11 C3NCy = {3'} Cy & Cy 1330
44' TRE,

11

a1



(12)

35

(7) CiNCo=14. C, & C; 11 34 THRE, CsnCy =13 C, &
C, 1l 22' THES, ‘

% 36

(8)CinC: ={2}ud C:NCs={3,3} CsnCyi={1'} C L C
SRR,
C;=aUf a=(2,33), pB=(3,4,0,0,3) ¢35,
Ch=adl%, C;NCy={2}, OCiNCs=33C, L C, 304" TEE,
Ci=BDLE, C;NC,=04, C,NCs;=233C, L C, 1022 THS,

37

(9) 01003 ={2}U04 02 n03={3} 6'3004 =1’3' 01 & 04 X
T/ AN

12



(13)

38

C,=CUaUB =(0,2,2,0) a=(0,3,4), B=(0,23) 75,

lkz(éz, é&) =1, bL.

lkg(a, 04) =0
1k2(8,Cs) =0

Xix

{ lka(a,Cy) =1
lkz(ﬂ,oa) =1

26 C, DROYIZCY ZBAT S,

X 39

CiNCL=02 C,LCait12 THE, CNCi=13 C LG,
1144 RS,

lkz(a,04)= 1 }
Ik2(B,Cs) =0

BB Cl=a kT35,
CiNCy=04 CiNCs={3} C; & C, 11220 TRE,

13



(14)

40

Iky(a,Cy) =0 }
lk?(ﬂs04) =1

26 CL=pLt¥5,
CiNCL=02 CinCs={3} CiNCi=1'8 C, &C, 1144’ T
S

£l 41

(1) C;inC, ={2}ud C;NC;=11'U{3} CsnCy={3} &
& Cy R,
C:=aUff a=(1,4,0,0,1), p=(1,23,4) &35,
Ci=aDt&, C;1NC =04, C3NCy=11'Cy Lk C, 1330 22' TS,
Ci=BDLE, CiNCy={2,4}, C3nCs={1,3}, C4& C, %ZE00'4
THS.
bz Cl=B% f=qUédy=(1,2,4), § =(2,3,4) &7 B,

Y=y DEE, C1NCY =24, CyNCy={1}
Cy=0DLE, Ci1NCY =24, CJyNCs={3}

14



(15)

(In
(1)CinC,={3} C:nNCs=44'U{2} CsnNCyi=12" C; &Csix
2 00’ TEE,
C:=aUf a=(2,3,4), B=(23,4,4,3)L,T5,
1 = lky(C2,C4) = kz(a, Cs) + tka2(8,Cs)
lky(a,Cy) =1 260, =a £ LT B %¥TS, C1NCy = {3}, CinCs=
24
2 (8,Ce) =1 25 CL =8 £ LT a 288T3, C, & C} %033 THSE,
CiNCs =244

| 43

(2) Cl n Cg = {3} Cz n Cg = 22' U44’ Cs N 04 = {1'} C] k 04
1330 00’ TS,

7
S

15



(16)

| C:=aUp a= (3’4’4')’ B= (2'94"3’2) b

Ci=a k% C,NC,={3}, C,)NCs=4d
1 —BDEXC,NCL={3) CinCs={4}u22

EIT, Cs=qUs ~v=(1,2.4), &=(2,4,3,2) LB,
Cl=yDE%, CLNC, =24, CLNC,={1"}

1 _SDLE, C4NCL=22, Cb kO, 140 THE,
G, & Cy 1201 THURBT,

45

(8)C1 £ CoIBA3Y THF., C,NCs=22 CnC=14 €
& Cy 1330 00’ TRES,

4] 46

4)CinC;={1,83} C.NCs=441U{2} C3nCy={2"} C &
C, 1333 00’ THS, ’ ,
C=aUf a=(2,3,4), B=(1''4,4,21)L¢T5,
Ci=a®Dt&ECi;NCy={3}, CjnCs=24

=B DLECINC,={1} C;nC;=244'1"

16 .



an

X 47

() CinC={1} CNCs={21'} CsNCi={2} Ci &Csit
00’ TRES,
C:=aUB a=(14,4,2), B=(1%,2,4,4) LT3,
Ci=a®l& C;nCL={1}, C.NC;=2441
Ci=BDLEC L CLENIP THE CLnCs = 2441

48

(6) CinC; = {1} CoNCs =22"1" CsnNCy = {4'} C, & Cy 133D
00’ TS,

49

(7) CinC; = {0} C:NCs =44 CsNCy = 12! C; & C, 1338
33’ THRS.

] 50

17



(18)

(8) CinC, = {0, 3} CoNCs = {2,4} CsnNCy =1"2¢ C, &Gy
MR,

3] 51
C,=aUf a=(2,3,4), B=(2400,3)&L.
Cs =qyUé ~=(2,4,4,1,3), §=(,2,3,1,2) &7¥5,,
| -
(a){ gf:“ NEE, CINCy={38}, CinCi=24 CinCy=14
! =
C, & C, % 002" THS,

52

I —
Cz—a

(b){ g PEEGNCI={3}, CNCi={2} CNC, =17
L=
C & Cy % 004 THRS,

53
Ci=p8

C
()){ Ol =~
C, & Cy %3012 THS,

DL &, CNC,={0}, CINC, =428 CINC, =1'4'

18



54

[ -
@) E=P orx anc={0}, Cnci=23 CiNC, =12
cl =6

C, & C; % 3¢ TR,

& 55

(9) CinC: = {0,3} C:NCs={4}U22 CsnC,=14 C; LCs
BEE~A2,

B 56

Co=aUB a=(234), f=(240,0,2)%LL, | '
Ci=ak&, CiNC}={8}, CjNC:=240 & C; % 00 TH
= o TR . ,

19 .
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(20)

£ 57

Cy=BDEE, O,NCL={0}, C4NCs=242'C, & Cs % 33 TR
F,

B 58

(10) C1nC2 ={0,1,3} C:NCs={2,4,1'} CsNCy={2,4} O
& Cy B2, '

59

C, = aUBUYUS  a=(2,3,4), B=(2,400,3) ~+=(0,1,2) &=
(0,1,1,0") & L, '
Cs=eU¢ e=(1,2,4), (=(2,44,2)¢t7%,

{ - .
(@) { G=c praicincg =03, O C)E 0T TRE,

Ci=c¢
CinCy =24 C) & Cy 11123 THS,

20



60

(-
(b){ gf‘z DEE, CNC, =03, CLUCL={4} CINC, =24
3=

C, t C, K 11'3 TS,

X 61

| .
(c) { Cf‘ﬂ DEEIC, £ O "CL & CL" BREABCIZEAR,
3

extra edge 21’ M hiEE~R3, C1NC; =03 CynCy =24
F7213, CUCLUCHUC, IZiH 140'3U240'1" MANIERD BF0OMS
Z7122o T3,

X 62

(d){ o f‘z DE&, CNCL =03, CLUC,={2} CinC,=2'4
| =
C) & Cy 1122 TRS,

21

€4))



(22)

15 63

Cl = >
(€) CZ =Z DELE, CiNC, =01, CLL Clit2d0l THE,
CiNCy=24" Cp & C, i 33 THE,

64

(f){ gf‘z DE&, CiNCL =01, CLUC,={2} CiNCy=2¢
8=
C, & O i3 33 TRE,

& 65

CL=46
(s){ Ciee
C, & C, X 33 TR,

NLE,CINC, =01, CuCi={1'} CiNCy=2'¢

22



(23)

66

Ch=4§

By
Cs=¢
Ci=2'4 C, & C, 38 TRE,

DLE, CiNCL=01, CLk OB TRHEE  Cin

67

ULXY Cat(Ks) i linked subgraph &, Cat(Ks)U{e} 2* intrin-
sically knotted THDHNbh o, ZITe ik Cat(Ks) ® E DWIE
En30THB, m]
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